
Reading Section  Part 2 

全 20 問  

 
このパートは、英文の構造を理解し、抜き出された単語の位置を正しく指摘する問題です。 

 

問題用紙に印刷されている例題を見てください。 

Todayで始まる以下の英文は、元の文から[ who ]という単語だけを抜き出し、最後に提示

しています。 

 

 例題 

 Today, people (A) can use the Internet (B) find it easy to (C) communicate with (D) each other. 

[ who ] 

 

この [ who ] を、(A) (B) (C) (D) のどの位置に戻せば、意味の通る元の正しい英文ができ

るかを、考えて答えましょう。 

 

この例題では、(A) の位置に [ who ] を戻せば「今日、インターネットが使える人には、

お互いにコミュニケーションをとるのが容易である」という意味の正しい英文になります

から、解答は (A) です。答えを解答用紙にマークしてください。 
 

 

問題 

1. Soccer is by far (A) the most popular sport (B) in the world, (C) it is also one of the most difficult 

(D) to master. [ but ] 

 

2. A curious thing about the Nobel Prize (A) that it was initiated (B) by a man who did a great deal  

(C) to promote (D) the science of destruction. [ is ] 

 

3. Many universities are debating (A) the issue of whether to allow laptops in the classroom (B) by 

using them (C) students can take good notes during the lecture but at same time (D) they can email 

friends or surf the Internet. [ because ] 

 

 


